
making everyday smoother
FITTING INSTRUCTIONS

• Increased comfort • Better driveability • More safety

K0

VB-CoilSpring 1703801200

PEUGEOT EXPERT
CITROEN JUMPY
TOYOTA PROACE

OPEL VIVARO

making everyday smoother



2 V2.0making everyday smoother

©2021, VB-Airsuspension B.V.

Alle rechten voorbehouden. Niets uit deze uitgaven mag worden verveelvoudigd en/of openbaar gemaakt door 
middel van druk, fotokopie, microfi lm of op welke andere wijze dan ook, zonder voorafgaande schriftelijke 
toestemming van VB-Airsuspension B.V. Dit geldt ook voor de bijbehorende tekeningen en schema’s.

Alle Rechte vorbehalten. Vervielfältigung und/oder Veröff entlichung durch Nachdruck, Fotokopie, Mikrofi lm oder 
auf jede andere Art – auch auszugsweise – ohne vorherige schriftliche Genehmigung von VB Airsuspension ist 
nicht zulässig. Dies gilt auch für die zugehörigen Zeichnungen und Pläne.

All rights reserved. No part of this publication may be reproduced, stored in a retrieval system, or transmitted in 
any form or by any means, electronic, mechanical, photocopying, recording or otherwise, without the publisher’s 
prior consent. That does also count for the schemes and drawings.

Reproduction interdite. Toute reproduction, tout enregistrement dans une base de données ou toute transmission 
sous toute forme ou par tout moyen : électronique, mécanique, photocopie, enregistrement ou autre, de tout ou 
partie de cette publication, est formellement interdit(e) sans l’autorisation préalable de VB-Airsuspension B.V. Ceci 
est aussi valable pour les dessins et les schémas.

Revision table

Document number 730170380119

New revision: V2.0 Old revision: V1.0

Release date (yyyy-mm-dd): 2021-02-22

Page (new): Changes:
1, 3 Added: Opel Vivaro



V2.0 3making everyday smoother

Color Description

Groen Links achter

Zwart Rechts achter

Grün Links hinten

Schwarz Rechts hinten

Green Left rear

Black Right rear

Vert Arrière gauche

Noir Arrière droit L R

Aandraaien Festziehen Tightening Serrer

Nm

xxx Nm

Aandraaien met 
moment

Anziehen mit 
Anzugsdrehmoment

Tightening with 
torque Couple de serrage

Advies Hinweis Advice Avis

Symbolen - Symbole - Symbols - Symboles

Montagetijd - Montagezeit - Fitting time - Temps de montage

1 Uur
1 Stunden
1 Hour
1 Heure

Kleurcodering - Farbecodierung - Colour coding - Codage couleur

Voertuig - Fahrzeug - Vehicle - Véhicule

Model / Modell / 
Model / Modèle

Typ(e)
Jaar / Jahr / 
year / Année

KG

Peugeot Expert

K0 > 2017 

1050 kg (0% load) ±22 mm
Vervangveer achteras
Austauschfeder Hinterachse
Replacement sprint rear axle
Restsort d’echange essieu arrière

Citroen Jumpy

1800 kg (100% load) ±36 mmToyota ProAce

Opel Vivaro

De TÜV certificering is alleen geldig voor voertuigen met een massa in rijklare toestand > 1735 kg.
De achteraslast moet altijd > 1050 kg zijn (m.u.v. voertuigen met optiecodes CZ02 of GA04)!
TÜV Gutachten nur gultig fur Fahrzeugen mit einer Masse in fahrbereitem Zustand von > 1735 kg.
Die Hinterachslast muss immer > 1050 kg betragen (ausgenommen Fahrzeugen mit optioncodes CZ02 oder GA04)!
TÜV Approval only valid for vehicles with a mass in running order > 1735 kg.
The rear axle load must always be > 1050 kg (except vehicles with option codes CZ02 or GA04)!
La certification TÜV n’est valable que pour les véhicules dont la masse est en ordre de marche > 1735 kg.
La charge sur l’essieu arrière doit toujours être > 1050 kg (sauf véhicules avec codes d’option CZ02 ou GA04)!



4 V2.0making everyday smoother

Achtung: 
Kontrollieren Sie vor der Demontage zuerst die Werkstattanleitung des 

Fahrzeugherstellers! Folgen Sie allen Anweisungen vom Fahrzeugherstellers!

Belangrijk: 
Controleer altijd het werkplaatshandboek. 

Bij twijfel volg altijd de werkwijze van de fabrikant van het voertuig!

Attention: 
Please check, before disassemble, the workshop manual of the

 manufacturer. Always follow these instructions of the manufacturer!

Attention:
Avant de commencer le démontage vérifi er le manuel de service 

du constructeur. Suivre les préconisations du constructeur !!

Onderdelen - Teile - Parts - Pièces

Aantal /
Menge /

Qty. /
Nombre

Omschrijving / 
Beschreibung / 
Description / 

La Description 

Artikelnummer /
Artikelnummer /
Item number /

Référence

2 VB-CoilSpring 170201034X

2

Centreerbus /
ZentrierbÜchse /
Centring bush /

Bus central

1702040028

2

Flensbout M16 x 85 12.9 Torx /
Flanschschraube M16 x 85 12.9 Torx /

Flange bolt M16 x 85 12.9 Torx /
Boulon bourrelet M16 x 85 12.9 Torx

0010716085FA



V2.0 5making everyday smoother

3

1 4

4

2

Montage veer - Montage Feder - Mounting spring - Montage ressort



6 V2.0making everyday smoother

5

6

A.

B.
C.



V2.0 7making everyday smoother

7

8

9



8 V2.0making everyday smoother

12

10 11

Nm



V2.0 9making everyday smoother

13

14

ADAS
(Advanced driver-assistance systems)

15



10� V2.0making everyday smoother



V2.0� 11making everyday smoother



w

www.vbairsuspension.com

Dealer:

ALL

VB-Airsuspension is producing, as one of the few European manufacturers, a very broad range of different (air)-

suspension systems. From reinforced coil springs, semi-air-suspension systems, up to complete full air-suspension systems, 

we provide solutions for customers with different vehicle types, like ambulances, minibuses, car transporters, motorhomes, 

etc. Now you can see why more and more commercial vehicle body manufacturers specify  VB-Airsuspension on their vehicles.

*730170380119ALL*
730170380119 ALL V2.0


